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1. Do you agree or disagree with the

following statement? HARE
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getting that from your peers.
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Speaking

Task 1

Your university plans to restrict the
use of the Internet to research only
and to no longer allow access to
personal e-mail and social media
Web sites on library computers. Do
you think this is a good idea?

Explain why or why not.
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3. Many people maintain that economic
development should be slowed down
so as not to harm the environment.
Do you agree or disagree?
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4. Do you agree or disagree with the
following statement: primary schools
should spend more time on teaching

students

young (5-11 years old)

technology (like computer) than

teaching music and art.
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Speaking

Task 1

Some people prefer to watch news
everyday, while others prefer to
watch news once in a while. Which
do you prefer and why?
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Do you agree or disagree with the
following statement? The government
should make it possible for all children to
attend  preschool (early childhood
education programs for three-year-old,
for example) at no cost to children’ s
families.

mEIREERELUNERR - BT RZZEM
B/NZEERE EMZE (BINREHRSE ==

RENBRIIHE ) -

BORF

2 H: =®HE ( Golden Mask ) WEE 14

k=

RiREfE = R E EE B HRYmAS
1l BRE=EEENZLEXREEFRE
N EE

EHERIRNEEEE

57

BNR L =R :

1. mELRVAENIEEBSE - AolE2RAT -

mEREBAAEk—ZBEKRERR
WEEM
2. =t HEAERBHEPRIBENS IR

HE - AEHEUNEE

3. [EEEXLEE  MEEEETYmIER



BE ERELREHEERNYMm - i

TREREGIRS



